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Question No : 1

A customer is preparing to installSoftwareon theCPMG Serverand would like to displaythe
bootsequenceon the system terminal forthe BOS, ROM, and Operating system.

Which port on the CPMG server providesthis information?

A. Frontface TTY part 2
B. Frontface TTY part 1
C. Backplane 3-part connection TTY partO
D. Frontface embeddedLan(ELAN) part O

Answer: B

Question No : 2

A customer purchased a newCommunication Server 1000E SA system with five Media
gateways which include.

MG 1 CPMG (Call Server, Signaling Server, Media Gateway Controller)

MG 2Media Gateway Controller

MG 3 Media Gateway Controller

MG 4 Media Gateway Controller

MG 5 Media Gateway Controller

Which statementis regarding the configuration of media gateway 1?

A. The Call Server and Media gateway share the same ELAN IP address.

B. The Call Server, and signaling Server,and media Gateway share the same ELANP
address.

C. The Call Server and Media Gatewayhave differentlP address

D. The Call Server, Signaling Server, and Media Gateway have different IP addresses

Answer: C
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Question No : 3

Atechnician is upgradingan existingoption11C RIs 55 system tocommunicate Server (CS)
1000 E RIs. 7.0 standardAvailabilitywith asingleMedia Gateway 1000E Chassis. ACPMG
Co-Resident Server cardis being deployed duringthe upgrade. Thisis a stand-alone
systemthatis not part ofa target network so that OPMG will act as its own primarySecurity
Server.

Which applicationdeployment combinationwill be deployed on theCPMG serverfor thethis
customer?

A. CS+SS+EM
B. CS+SS+SIPL
C. CS+SS

D. CS+SS+NRS

Answer: A

Question No : 4

A technician haspreviouslyscheduledSubscriber Managertobuilda new telephoneaccount
for the subscriberjohn Smithat midnight. However, the next morningit is discoveredan
account has not provisioned.

What should be donenext?

A. Lookat ss_common logs in Linux base

B. Within UCM, look at OAM logsunder toolsLogs

C. With UCM look at Security Event logsunder toolslogs
D. Look at cs_console logs in Linux base

Answer: B

Question No : 5
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A customer has deployeda communication server1000 RIs. 7.0 system at their site. Their
sales department isexpanding and is askedthat the new telephone be addedwith the same
capabilities as theexistingtelephones in the department

Which programmingcommandshould be used to complete this task?

A. Move to DN

B. Move from TN
C. Move from DN
D. Copy from TN

Answer: D

Question No : 6

A technician is planningto implement a single IP telephony nodefor a Co-Resident
Communication Server (CS) 1000E system at release7.0

Which component can be configuredwithin the node?

A. Virtualtrunk Gateways, virtual loops, PersonalDirectory,IM and presence publisher.
B. MSRN for MAS, SP Line Gateway, Personal directory

C. IP Media services, SIP Line Gateway, Personal directory, SIP gateway

D. SIP Line Gateway, TPS, Personal directory, AML link,voice gateway codes

Answer: C

Question No : 7

A customer with aCommunication Server (CS) 1000ERLS 505 with two IPMGs is
upgradingtheir system to release 7.0.Theupgraded system will have two IP media
gateways?

Which two Statements are true regardingDSPresources for the IP media gateways in the
Upgradedsystem? (Choose two)
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A. DSP resources areno longer required forinter-IPMG calls
B. DSP resources arelocated to a particularlPMG where theDSP resource is located.
C. DSP resources are consideredsystem resourcesand are not located to a particular
chassis.
D. DSP resources are requiredfor TDM to IP calls

Answer: B,D

Question No : 8

A customer would like to simplify their network administration by migrating existing
Communication Server (CS) 1000 Rls 7.0 system in multiple locations into a single
centrally deployed CS 1000 system. They want this change to be transparent to end users
so that they can continue to use the same dial plan and features currently in place.

Which feature can be implementedto meet the customer requirements?

A. Hybrid Dialing

B. Uniform Dialing

C. Zone Based Dialing
D. Conditional Dialing

Answer: C

Question No : 9

Click the Exhibit Button.Button
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A customer has askedif theCommunicationServer (CS) 1000RIs.7.0systemcan
provideExecutionusers with the abilityto selectively droppeople that have beenadded to a
conference.

Based on the point outsand assumingthe CSD keyhas been programmedand the Class of
Servicesassignedis CDCA, which capabilities arecurrently availableto the user fo extension
20067

A. The user cannot seethe conference displaycount orselectivelydiscountcallers.

B. The user can see the conference display count orselectivelydiscount callers.

C. The user can see the conference display count but cannotselectively discount callers.
D. The user cannot see the conference display count but cannot selectively discount
callers.
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Answer: A

Question No : 10

Click theExhibitbutton

A customer has deployed a CommunicationServer (CS) 1000RIs 7.0 system at their
siteand have askedthat a swap usingthe Element Managerphones toolon the two
telephonesets shownin theprint-out be performed.

What should the customer be toldregardingthis request?

A. Thesetwo telephonescannot be swappedbecause they do not havecompatible TN types.
B. These two telephonescan be swappedbecause they are both assignedto TGAR 1.
C. These two telephones can be swappedbecause they both have the sameVCE class of
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service.

D. These two telephonescannotbeswappedbecausethey bothhave the sameVCE Class of
service.

E. These two telephonescannot beswappedbecause they are notin the same Call Pickup

group.

Answer: A

Question No : 11

A customer has installed a media Gateway Controller (MGC) and would like to changethe
baud rate settingsfor the SDI ports. The baud rates for allSerial data interface (SDI) ports
on the MGC are configurable through Call Server.

Which overlay isusedconfigure theMSG SDI ports?

A. LD 137
B.LD 117
C.LD 97
D.LD 17

Answer: D

Question No : 12

A technician is upgradingan Option 11Csystemto a communication Server (CS) 1000E
RIs7.0 system using aCPMG ServerCard Configurationa co-Residentcall Server,
SignalingServer and Media Gateway Controller.

Whichtwo serialconnections are available on the CPMG Server card? (Choose two)

A. 2xRJ45 connections for the serial communicationwith the call processor

B. The same3 port SDI interfacethat is usedto communicate with amedia gateway
controller(MSG)

C. The same 2 port SDI interface that is used to communicate withCPPM server card.
D. A 9 D-type connector on the faceplate that is usedto communicate with theCall
Processor.
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